

County Distribution Detail Report through 06/04/2024

Aurora

Adiora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	819	2,165	30	3,014	\$3,767.50	\$102.62	\$3,664.88	0.70	\$2,565.42
							Entity Tota	al:	\$2,565.42
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,565.42
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,241	11,608	1,970	14,819	\$18,523.75	\$391.09	\$18,132.66	0.70	\$12,692.86
							Entity Tota	al:	\$12,692.86
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,692.86
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	805	1,308	6	2,119	\$2,648.75	\$58.85	\$2,589.90	0.70	\$1,812.93
							Entity Tota	al:	\$1,812.93
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,812.93
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,407	4,414	86	5,907	\$7,383.75	\$149.40	\$7,234.35	0.70	\$5,064.05
							Entity Tota	al:	\$5,064.05

\$0.00

Adjustment:

Total Amount:	\$5,064.05

Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	8,589	24,186	1,324	34,099	\$42,623.75	\$913.02	\$41,710.73	0.70	\$29,197.51
							Entity Tota	al:	\$29,197.51
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$29,197.51
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	4,837	29,645	3,244	37,726	\$47,157.50	\$1,020.25	\$46,137.25	0.70	\$32,296.08
							Entity Tota	al:	\$32,296.08
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$32,296.08
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	2,010	4,078	86	6,174	\$7,717.50	\$156.10	\$7,561.40	0.70	\$5,292.98
							Entity Tota	al:	\$5,292.98
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,292.98
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	530	497	1	1,028	\$1,285.00	\$25.73	\$1,259.27	0.70	\$881.49
							Entity Tota	al:	\$881.49
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$881.49
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,577	7,322	415	9,314	\$11,642.50	\$251.56	\$11,390.94	0.70	\$7,973.66

							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$7,973.66
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	517	1,447	32	1,996	\$2,495.00	\$60.12	\$2,434.88	0.70	\$1,704.42
							Entity Tota	al:	\$1,704.42
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,704.42
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	2,081	5,954	19	8,054	\$10,067.50	\$203.62	\$9,863.88	0.70	\$6,904.72
							Entity Tota	al:	\$6,904.72
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$6,904.72
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1	3,083	45	3,129	\$3,911.25	\$78.78	\$3,832.47	0.70	\$2,682.73
							Entity Tota	al:	\$2,682.73
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,682.73
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	473	3,456	84	4,013	\$5,016.25	\$117.68	\$4,898.57	0.70	\$3,429.00
							Entity Tota	al:	\$3,429.00
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,429.00
City of Pierre, Hughe	es Co.								

Entity Total:

\$7,973.66

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,111	11,980	1,936	15,027	\$18,783.75	\$387.69	\$18,396.06	0.70	\$12,877.24
							Entity Tota	l:	\$12,877.24
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$12,877.24
City of Sioux Falls, L	_incoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,167	34,393	5,138	40,698	\$50,872.50	\$1,030.58	\$49,841.92	0.70	\$34,889.34
							Entity Tota	l:	\$34,889.34
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$34,889.34
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	955	2,615	75	3,645	\$4,556.25	\$99.21	\$4,457.04	0.70	\$3,119.93
							Entity Tota	d:	\$3,119.93
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,119.93
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	766	8,203	776	9,745	\$12,181.25	\$261.84	\$11,919.41	0.70	\$8,343.59
							Entity Tota	d:	\$8,343.59
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$8,343.59
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	2,800	21,471	3,414	27,685	\$34,606.25	\$745.42	\$33,860.83	0.70	\$23,702.58
							Entity Tota	l:	\$23,702.58

							Adjustment: Total Amount:		\$0.00 \$23,702.58
Corson									
Panarting Pariod	Tologom Lings	Wireless Lines	VOIR	Total Lines	Curcharge	Admin Ess	Not Surpharas	Entitu	Entity Amount

COISOII									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	719	1,100	463	2,282	\$2,852.50	\$59.60	\$2,792.90	0.70	\$1,955.03
							Entity Tota	ıl:	\$1,955.03
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,955.03
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	2,701	6,922	40	9,663	\$12,078.75	\$273.45	\$11,805.30	0.70	\$8,263.71
							Entity Tota	ıl:	\$8,263.71
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$8,263.71
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	2,670	15,789	1,554	20,013	\$25,016.25	\$529.63	\$24,486.62	0.70	\$17,140.63
							Entity Tota	ıl:	\$17,140.63
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$17,140.63
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,375	3,869	216	5,460	\$6,825.00	\$140.83	\$6,684.17	0.70	\$4,678.92
							Entity Tota	ıl:	\$4,678.92
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,678.92
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

4/2024	1,241	3,291	103	4,635	\$5,793.75	\$119.91	\$5,673.84	0.70	\$3,971.69
							Entity Tota	al:	\$3,971.69
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,971.69
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	967	2,304	9	3,280	\$4,100.00	\$85.21	\$4,014.79	0.70	\$2,810.35
							Entity Tota	al:	\$2,810.35
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,810.35
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	872	3,168	134	4,174	\$5,217.50	\$105.99	\$5,111.51	0.70	\$3,578.06
							Entity Tota	al:	\$3,578.06
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,578.06
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	2,432	5,293	31	7,756	\$9,695.00	\$203.92	\$9,491.08	0.70	\$6,643.76
							Entity Tota	al:	\$6,643.76
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,643.76
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	595	1,648	53	2,296	\$2,870.00	\$57.85	\$2,812.15	0.70	\$1,968.51
							Entity Tota	al:	\$1,968.51
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,968.51

^			
	ra	nt	

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,165	5,841	575	7,581	\$9,476.25	\$226.32	\$9,249.93	0.70	\$6,474.95
							Entity Tot	al:	\$6,474.95
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,474.95
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,400	3,622	9	5,031	\$6,288.75	\$144.46	\$6,144.29	0.70	\$4,301.00
							Entity Tot	al:	\$4,301.00
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,301.00
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	837	1,421	4	2,262	\$2,827.50	\$57.41	\$2,770.09	0.70	\$1,939.06
							Entity Tot	al:	\$1,939.06
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,939.06
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,154	4,374	269	5,797	\$7,246.25	\$152.58	\$7,093.67	0.70	\$4,965.57
							Entity Tot	al:	\$4,965.57
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,965.57
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	540	2,747	382	3,669	\$4,586.25	\$100.54	\$4,485.71	0.70	\$3,140.00

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,140.00
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	633	3,286	82	4,001	\$5,001.25	\$114.33	\$4,886.92	0.70	\$3,420.84
							Entity Tot	al:	\$3,420.84
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,420.84
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	585	891	1	1,477	\$1,846.25	\$47.13	\$1,799.12	0.70	\$1,259.38
							Entity Tot	al:	\$1,259.38
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,259.38
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	486	3,354	271	4,111	\$5,138.75	\$142.10	\$4,996.65	0.70	\$3,497.66
							Entity Tot	al:	\$3,497.66
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,497.66
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	2,179	5,605	80	7,864	\$9,830.00	\$199.54	\$9,630.46	0.70	\$6,741.32
							Entity Tot	al:	\$6,741.32
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,741.32

Hyde

Entity Total:

\$3,140.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	538	1,051	12	1,601	\$2,001.25	\$40.48	\$1,960.77	0.70	\$1,372.54
							Entity Tota	al:	\$1,372.54
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,372.54
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	536	955	6	1,497	\$1,871.25	\$37.58	\$1,833.67	0.70	\$1,283.57
							Entity Tota	al:	\$1,283.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,283.57
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	662	1,473	29	2,164	\$2,705.00	\$54.25	\$2,650.75	0.70	\$1,855.53
							Entity Tota	al:	\$1,855.53
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,855.53
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	404	755	6	1,165	\$1,456.25	\$29.96	\$1,426.29	0.70	\$998.40
							Entity Tota	al:	\$998.40
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$998.40
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	693	4,114	337	5,144	\$6,430.00	\$147.04	\$6,282.96	0.70	\$4,398.07
							Entity Tota	al:	\$4,398.07
							Adjustmer	nt:	\$0.00

							Total Amount:		\$4,398.07
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,486	9,745	783	12,014	\$15,017.50	\$333.25	\$14,684.25	0.70	\$10,278.98
							Entity Tota	al:	\$10,278.98
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$10,278.98
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	4,200	19,961	1,758	25,919	\$32,398.75	\$690.80	\$31,707.95	0.70	\$22,195.57
							Entity Tota	al:	\$22,195.57
							Adjustmer	nt:	\$0.00
							Total Amount:		\$22,195.57
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,801	28,002	3,259	33,062	\$41,327.50	\$993.98	\$40,333.52	0.70	\$28,233.46
							Entity Tota	al:	\$28,233.46
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$28,233.46
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	980	1,944	363	3,287	\$4,108.75	\$88.30	\$4,020.45	0.70	\$2,814.32
							Entity Tota	al:	\$2,814.32
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,814.32
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,198	3,504	256	4,958	\$6,197.50	\$139.25	\$6,058.25	0.70	\$4,240.78

							Adjustment: Total Amount:		\$0.00
									\$4,240.78
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,471	4,605	29	6,105	\$7,631.25	\$156.56	\$7,474.69	0.70	\$5,232.28
							Entity Tota	al:	\$5,232.28
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,232.28
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	766	1,713	4	2,483	\$3,103.75	\$76.90	\$3,026.85	0.70	\$2,118.80
							Entity Tota	al:	\$2,118.80
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,118.80
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,495	21,113	968	23,576	\$29,470.00	\$616.72	\$28,853.28	0.70	\$20,197.30
							Entity Tota	al:	\$20,197.30
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$20,197.30
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	689	759	28	1,476	\$1,845.00	\$57.32	\$1,787.68	0.70	\$1,251.38
							Entity Tota	al:	\$1,251.38
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,251.38
Miner									

Entity Total:

\$4,240.78

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	797	1,763	28	2,588	\$3,235.00	\$66.82	\$3,168.18	0.70	\$2,217.73
							Entity Tota	ıl:	\$2,217.73
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$2,217.73
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	16,532	165,352	19,100	200,984	\$251,230.00	\$5,538.18	\$245,691.82	0.70	\$171,984.27
							Entity Tota	ıl:	\$171,984.27
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$171,984.27
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	806	6,075	132	7,013	\$8,766.25	\$190.37	\$8,575.88	0.70	\$6,003.12
							Entity Tota	ıl:	\$6,003.12
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$6,003.12
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	11,580	92,416	10,506	114,502	\$143,127.50	\$3,083.06	\$140,044.44	0.70	\$98,031.11
							Entity Tota	ıl:	\$98,031.11
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$98,031.11
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,526	2,385	66	3,977	\$4,971.25	\$118.65	\$4,852.60	0.70	\$3,396.82
							Entity Tota	ıl:	\$3,396.82

Adjustment:	\$0.00
Total Amount:	\$3,396.82

Potter									. ,
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	871	1,950	7	2,828	\$3,535.00	\$71.09	\$3,463.91	0.70	\$2,424.74
							Entity Tota	al:	\$2,424.74
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,424.74
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	2,690	6,104	34	8,828	\$11,035.00	\$246.91	\$10,788.09	0.70	\$7,551.66
							Entity Tota	al:	\$7,551.66
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,551.66
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	620	1,917	13	2,550	\$3,187.50	\$66.72	\$3,120.78	0.70	\$2,184.55
							Entity Tota	al:	\$2,184.55
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,184.55
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,140	4,990	466	6,596	\$8,245.00	\$170.18	\$8,074.82	0.70	\$5,652.37
							Entity Tota	al:	\$5,652.37
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,652.37
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

4/2024	249	2,442	442	3,133	\$3,916.25	\$83.49	\$3,832.76	0.70	\$2,682.93
							Entity Tota	ıl·	\$2,682.93
							Adjustmen		\$0.00
							Total Amo		\$2,682.93
Sully									_ ,0000
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	511	1,284	16	1,811	\$2,263.75	\$46.69	\$2,217.06	0.70	\$1,551.94
							Entity Tota	ıl:	\$1,551.94
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,551.94
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1	55	0	56	\$70.00	\$11.66	\$58.34	0.70	\$40.84
							Entity Tota	ıl:	\$40.84
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$40.84
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,878	4,166	8	6,052	\$7,565.00	\$155.33	\$7,409.67	0.70	\$5,186.77
							Entity Tota	ıl:	\$5,186.77
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,186.77
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,412	6,927	139	8,478	\$10,597.50	\$219.41	\$10,378.09	0.70	\$7,264.66
							Entity Tota	ıl:	\$7,264.66
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$7,264.66

Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,745	12,069	639	14,453	\$18,066.25	\$451.31	\$17,614.94	0.70	\$12,330.46
							Entity Tota	ıl:	\$12,330.46
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$12,330.46
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	1,289	3,907	474	5,670	\$7,087.50	\$143.70	\$6,943.80	0.70	\$4,860.66
							Entity Tota	ıl:	\$4,860.66
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,860.66
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2024	2,147	18,992	1,945	23,084	\$28,855.00	\$613.04	\$28,241.96	0.70	\$19,769.37
							Entity Tota	ıl:	\$19,769.37
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$19,769.37
TOTALS	116,950	684,838	64,810	866,598	\$1,083,247.50	\$23,553.36	\$1,059,694.14		